W,

(o) £Cxla):x3)€ma,'

V4 = ¢ 3x74n .
J 5'>

V{LC'Z,D: <O/<§>

\’\}\:mim-

32 =
_::<())g>'<\r\-—())\l_\:’S

e

U":<3‘\> )

LY

D(} <2'D:\Z]4 \T\
- g

— io

Oi J4 C}_L\B:‘- <O)8>.

() The di reckion
I

(1



2

0\3 &CX,?P = ——X?lz%l«—z_x«-g

V’f—:(~2x+2/_t-/a = D
X =1 \a:O Cu, 0D ¢S
e,vﬁlcic&( (3%

(EN

D=8 >9 :>Q,o§1,go\€/oco%
{ . <

¥ ALY L N e

alrL

Q@) Tha quks ol abS. waox ound i

&‘Lkh\ﬁ\/‘ b w Q,ri“L'\CC’»L F{S :wc_.‘xcie b or
9NN jC\,\Ja Q)()uumcicxva \04@ D '
The ordbicel Pl: (\v,0) € D.
Tl
st o+l

TO &(\\,\C\ \F/.O\X)Q O X Ou\—vck A
%ouu,\ckokaa O<€ D 3 VAL v U
L@%vawaa metlio 4

Uus

g (g = - 4 - 16



V% = <2X'28>

gd =\ V%
%Cxl\as’: O

“ZX-\*Z:2>\>< | - % = N\ % (O
< "'7’&3 = 2&\2( < = > -—2\6 :5*“& (2
% i _ 2 l'-‘-{G (3)

= -1.

() => ukhejp Y =° or

Coce 4 \a: &
se
o (> = e
VOV Q_*—&:\ . /\— e % B tL(/
k¥ s E = W W r
Mewe (7, 0) gud (-7 90 OT* e
e (4, o e a}&/s.r“f’/vx/m'u.
{(4)93 — b +8 FS :Ei
(-4, 0)=-le=8+5 =|-1]
Cose 2 A=-2 => T¥=-27
e | = =X






@ .

g:x-\'\ —— x:‘d—l

7
x\

3
2 3 3
O SRR R
== |
y 2 \6:3
I B 3 }
—13 % /":7(%- \a:-\
3

14
[A

%% %Z:zxﬂf => x= & -

A r==8

(<



X

= fog® LR <

[ v e

z)Avl@ ’f

- G

<y Qu.\ex% i(j \re} V‘<H<LI

pere2 o8

%:fi‘iixes 2 Y

= [[ [ rdydree

O O yt

QV (J)U le

&

CLG-XL/A@:XT\.

O

ZTL



&)

= -E . ~
P = (1L-DT - eaa O] 4 e (s

2 l

F(D =, §an (50 Fees (5402

IF Tl = m = JH\

kqre

—

Tl de = LJ [ Lk = sl

Te
y s

L £

™ \7) L,———\N\t:—:;

(7









: 2
:& C——L*xarz,_;_ bl =

3

:g <“"2§:"><‘\";_X2+ lscLX :[_>f_a+_>i.+x

$

3 27

X—o

= =
_ volume O‘{/ = b us e e
ya
A\ &o iche_ \/o\uwa O
frmed “ Lotro Ledvoy



